Alpena County Sheriff's Office

Memo

To: Finance Committee

From: Steven Kieliszewski, Sheriff

CC:

Date: November 19, 2019

Re: In-Car Computer Bid

A review of the bids submitted has been completed and it is recommended that the bid from Midwest Public Safety LLC submitted by Paul Olkowski for the amount of \$50,091.79 be accepted.

In a Board Action dated June 25, 2019 (attached) the County Board of Commissioners authorized \$45,000 to be taken out of the Base Security Fund to pay for the in-car computers. I'm requesting that an additional \$5,091.79 be taken out of the Fund to pay for the additional expenditures.

Sealed Bids for Sheriff's In-Car Computers

Paul Olkowski <paul@midwestpublicsafetygroup.org>

Tue 11/12/2019 4:59 PM

To: Bids County <bids@alpenacounty.org>

2 attachments (224 KB)

11_05_2019-In-Car-Computer-Bid-Information-1.pdf; AIPENAPD quote.pdf;

Please see the attached bid response.

Thank you,

Paul Olkowski Midwest Public Safety Group

Midwest Public Safety LLC

2665 Harryland Road Decatur, IL 62521 US (217) 855-0082

jeffrey@midwestpublicsafetygroup.org

ADDRESS

Sheriff Steven Kieliszewski Alpena County Sheriff's Office 320 Johnson Street Alpena, MI 49707

ESTIMATE # DATE 1332 10/29/2019

Estimate

SHIP TO

Sheriff Steven Kieliszewski Alpena County Sheriff's Office 320 Johnson Street Alpena, MI 49707

ACTIVITY	QTY	RATE	AMOUNT
Computers:S410 14" G3i5 S410 G3 Basic, Intel Core i5, 8265U 1.6Ghz, 14 Inch, windows 10 Pro x64 with 16 GB Ram, 256 GB SSD, membrane backlit KBD, Wifi+BT, SD Card Reader, 3 Year Limited Warranty	9	2,056.82	18,511.38
Computer Dock:Havis S410 Vheicle Dock S410 Havis Vehicle Dock w/o RF, (Black) Vehcile adapter sold separately.	9	698.86	6,289.74
Computer /Dock Accesories:120W 11-16V, 22-32V DC Vehicle adapter (Bare Wire) Getac 120W 11-16V, 22-32V DC Vehicle adapter (Bare Wire), 3 year warranty (For docking station)	98.86	889.74	
Mobile Modem:Sierra Wireless Airlink MP70 Sierra Wireless Airlink MP70 IEEE 802.11AC Cellular Modem/Wireless Router - 4G-LTE 2100, LTE 1900, LTE 1800, LTE 850, LTE 2600, LTE 900, LTE 700, LTE 800, WCDMA 850, WCDMA 900, WCDMA 1700. HSPA+, EVDO-2.40 GHZ ISM Band- 5GHZ UnII Band -1.	9	764.15	6,877.35
Mobile Modem:Airlink CompleteARA Airlink Complete ARA-New Aleos	9	175.61	1,580.49
Mobile Modem:Airlink Antenna Sierra Wirless Airlink Antenna 6-in -1 Dome	9	223.17	2,008.53
Mobile Modem:MP70 OBD-II MP70 OBD-II Y Cable	9	39.02	351.18
Mobile Modem:Sierra Wirless AC Adapter Sierra Wireless AC Adapter- 120 V AC Input-12V DC Output	9	17.07	153.63
Consoles:Ford Utility Interceptor Console GJ-Ford Police Interceptor Utility (2012+) console box with cup Holder and armrest	9	532.37	4,791.33

ACTIVITY	QTY	RATE	AMOUNT
and Printer Mount for Brother Pocket Jet 7 Series			
Computer /Dock Accesories:Mounting Adapter for Cradle GJ Mounting Adapter for Cradle, Tablet PC, Docking Station, Black Steel-Black	9	163.80	1,474.20
Printers:Brother USB Cable Brother USB Cable 6'	9	10.82	97.38
Printers:Brother Power Cable Brother Standard Power Cord	9	12.07	108.63
Printers:Brother Paper 85x11 Brother Paper-8.5x11-6 Pack7 Year Archiveability. 6 Rolls per pack. (100 Pages per roll).	4	59.76	239.04
Barcode Reader:Honeywell Barcode Rearder Honeywell Barcode Reader	9	375.61	3,380.49
Shipping and handling:Shipping Shipping	1	400.00	400.00
Printers:Brother Pocket Jet Printer Brother Picket Jeft PJ722 Thermal Printer 200DPI	9	326.52	2,938.68

TOTAL

\$50,091.79

Accepted By

Accepted Date

ALPENA COUNTY BOARD OF COMMISSIONERS

BOARD ACTION #13

TO:	County Clerk, County Treasurer, Sheriff's Office								
FROM:	Alpena County Board of Commissioners								
SUBJECT:	Bids for New In-Car Tablets/Laptops								
BOARD ACTION:									
ACTION ITEM #7: The Committee recommends we authorize the Sheriff's Office to seek bids for new in-car tablets/laptops to replace the 10-year old computers with an estimate of \$45,000 with monies coming out of the Base Security Fund.									
Moved by Commissioner McDonald and supported by Commissioner Karschnick to approve the Consent Calendar which includes actions as listed above and filing of all reports. Roll call vote was taken: AYES: Commissioners Adrian, Karschnick, Peterson, Fournier, McDonald, Kozlowski, and McRoberts. NAYS: None. Motion carried.									
This action w	vas <u>XX</u> APPROVED		ROVED	DISAPPROVED					
BY: Ayes: <u>7</u>	Nays:	<u>0</u> Ex	ccused: 0	Absent: 0	Abstaining: <u>0</u>				
Alpena County Board Chairman's Signature: Alpena County Board Vice-Chairman's Signature:									
Date of the Board Meeting: June 25, 2019									